
SUBTRACTION
Solve each problem , find the answers in the
box below and shade in the corresponding

number in the picture .

A.     4,32,502
     -   2,45,219

B.     5,43,231
      -  2,59,239

C.     7,08,109
      -     2,099

E.     5,502,263
    -  1,009,987

H.     9,25,551
    -     30,998

F.     1,217,340
    -     218,925

G.     9,570,172
     -   5,40,260

J.     50,000
    -  28,986

I.      3,50,828
       -     39,210

Answer, find & shade

D.     8,32,420
      -     45200
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   1.7,06,010 
    4.90,29,912

7.21,014
        10.7,87,220                                      

      2.8,94,553
      5.1,87,283

                  8.4,492,276                                      

3.9,98415
6.3,11,618
 9.2,83,992
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